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QUESTION 1

When working with replication, why might you want to stop the I/O thread on the slave while keeping the SQL thread
running? 

A. So that no changes are made while making backups. 

B. So that events for the slave do not get backlogged on the master. 

C. So that remaining events can be processed while not receiving new events from the master. 

Correct Answer: C 

 

QUESTION 2

Which of the following best describes the relationship between MAX_ROWS, AVG_ROW_LENGTH and the max table
size? 

A. MAX_ROWS * AVG_ROW_LENGTH tells MySQL how large you expect the table to grow to. 

B. MAX_ROWS + AVG_ROW_LENGTH tells MySQL to not let the table grow past that size. 

C. Specifying MAX_ROWS and AVG_ROW_LENGTH will prevent MySQL from growing the table beyond that limit. 

D. Specifying MAX_ROWS and AVG_ROW_LENGTH doesn\\'t prevent MySQL from growing the table beyond that
limit. 

Correct Answer: D 

 

QUESTION 3

Which of the following are reasons you would want to normalize your data? 

A. It removes redundant data. 

B. It is the only way to make your data internationalized. 

C. It makes data access more flexible. 

D. It helps eliminate possible data inconsistencies. 

E. It makes backups more efficient. 

Correct Answer: B 

 

QUESTION 4

Which of the following best describes how the relay log works? 
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A. It records the times when the slave connects to the master. 

B. When a slave receives a change from the master, it is recorded in the relay log first and processed later. 

C. When a slave receives a change from the master, it is processed first and then recorded in the relay log. 

Correct Answer: B 

 

QUESTION 5

Which of the following best describes the effect that the per-process limit of open file descriptors in an operating system
has on MySQL, and what can be done to increase it? 

A. The --open-files-limit option can be used to increase it. 

B. It limits the amount of operations MySQL can perform at one time. 

C. It limits the maximum size of the table cache that holds file descriptors. 

D. The operating system may be able to be reconfigured to increase this limit. 

Correct Answer: D 
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